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H kk xH kk xH kk xH kk x     – I / PART – I 

cky fo dkl o f' k{kk' kk L=cky fo dkl o f' k{kk' kk L=cky fo dkl o f' k{kk' kk L=cky fo dkl o f' k{kk' kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %     fuEufy f[kr iz'uks a d s mÙkj nsus d s fy ,     l cl s mfp rl cl s mfp rl cl s mfp rl cl s mfp r     f od Yi p qfu,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fuEufy f[kr es a l s d kS u-l k  ckY;d k y dk vU; 
uke u ghau ghau ghau gha  gS \ 
(1) çkjf EHkd  f o|ky ; vk ;q 
(2) LQ wfrZ vo LFk k 
(3) ^f xjk s g l s igys*  vk;q 
(4) f xjk s g vk ;q/ny  vk;q 

  
1. Out of the following which is not the 

other name of childhood ? 

(1) Elementary school age 

(2) Smart age 
(3) Pre-gang age 

(4) Gang age 

2. ^ea xk s fy Te*  çdk j d s ekufl d ea nrkiw .kZ ck ydks a 
d k  yxHkx cq f)  Lrj çl kj D;k  gk s rk  gS \ 
(1) 20 l s 25 (2) 20 l s uhp s 
(3) 25 l s 36 (4) 36 l s 51 

  
2. What is the approximate I.Q. range of 

'Mangolism' mentally retarded children ? 

(1) 20 to 25 (2) below 20  

(3) 25 to 36 (4) 36 to 51 

3. fuEufy f[kr es a l s d kS u-l k fod Yi 
l k ekftd hd j.k  d h çf Ø ;k  d s vUrxZ r ugh augh augh augh a 
vk rk  gS \ 
(1) l kekftd  : i ls l Eer rk Sj rjh d ks a ds 

O ;o gkj d ks l h[ kuk 
(2) l kekftd  :i l s l Eer Hk w fed k vksa dks 

d juk 
(3) l kekftd  vfHk o f̀ Ùk d k fod kl 
(4) vk Red s fU ær O;ogk j 

  
3. Out of the following alternative which 

does not come under processes in 
socialization ? 

(1) learning to behave in socially 
approved ways 

(2) playing approved social roles 
 
(3) development of social attitudes 
(4) egocentric behaviour 

4. cq f) d k ,d  çdk j t ks l k/k kj.kr;k urZ d ] 
, Fky hV ] l tZ u bR;kf n esa ik;k t krk gS]  D ;k  
d gyk rk gS \ 

(1) 'k jh j-xfrd h cq f) 

(2) LFk kf ud  cq f) 

(3) rkf d Zd-xf.k rh ; cq f) 

(4) l a xh r cq f) 

  
4. A type of intelligence which is mostly 

visible in dancers, athletes, surgeons 
etc.,  is known as what ? 

(1) Bodily-kinesthetic intelligence 
(2) Spatial intelligence 
(3) Logical-mathematical intelligence 
(4) Musical intelligence 
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5. fuEu es a l s dk S u-lk la o s xkRed  cq f ) d k rÙo  
u gh au gh au gh au gh a  gS \ 
(1) m|eh l k eF ;Z rk 
(2) vk Re-vfHk çs j.kk 
(3) ijkuqHkw f r 
(4) l EcU /kks a d ks l a pkf yr d juk 

  
5. Which of the following is not an 

element of emotional intelligence ? 

(1) Entrepreneurial competence 
(2) Self-motivation 
(3) Empathy 
(4) Handling relationships 

6. , d  fo |k FkhZ [ kq n d s }kjk tkus x;s d q N 'kC nks a 
tS l s ck?k] d q Ùkk] 'ks j]  rs a nqv k bR ;k fn ds v k/kkj 
ij , d  u;k 'kCn l h [k rk  gS ^ ek a lkgk jh  i'k q*A 
bl çd kj d s l h[ kus d ks D;k d gk tk rk  gS \ 
(1) l a ;k s xkRed  lh [k uk 
(2) v/k huLFk l h[ kuk 
(3) l gl EcU/kk Red  l h [k uk 
(4) egkd k sfV  l h[ kuk 

  
6. A student learns new concepts such as 

'Carnivorous animal' on the basis of 
words known by him such as tiger, dog, 
lion, leopard etc. This type of learning 
is known as what ? 

(1) Combinational learning 
(2) Subordinate learning 
(3) Correlative learning 
(4) Superordinate learning 

7. fuEufy f[kr es a l s dk S u-lk l k ewf gd  v'kkfCnd 
cq f) ijh{k.k  ughaughaughaugha  gS \ 
(1) vk eh Z ch Vk  ijh{k .k 
(2) vk eh Z v YQ k ijh{k .k 
(3) f 'kd k xks ijh {k.k 
(4) js o s Ul çks xzs fl o eSfV ªDl 

  
7. Out of the following which is not the 

type of group non-verbal intelligence 
test ? 
(1) Army Beta test 

(2) Army Alpha test 
(3) Chicago test  
(4) Revence progressive matrices 

8. cz kW uÝ s ucz s uj ds fl )kU r d s vuq l kj fu;e , oa 
jhf r fjo kt ck yd  d s fd l ikf jfLFkfrd  rU= 
d s mnk gj.k  gS a \ 
(1) ekbØ ks rU = 
(2) eS Ø ksrU= 
(3) ehl ks rU= 
(4) , Dl ks rU= 

  8. According to Bronfrenbrener, law and 
customs are examples of which of the 
following ecological system of child ? 
(1) Micro system 
(2) Macro system 
(3) Meso system 
(4) Exo system 

9. d ks gy cxZ d s vuql k j ^^ uSf rd  fod kl dh ,d 
, s lh  voLF kk ftl es a d ks bZ O;fDr  viuh  
uS frd rk d ks o rZ eku es a çp fy r l k ek ftd 
ekun.Mks a vFk ok  f u;eks a d s vuq : i vk¡d rk  gS* * 
dks uSfrd rk dh dkSu-lh voLFkk dgk x;k gS \ 
(1) uS frd rk dk  iw o Z ijEijkxr Lrj  
(2) uS frd rk dk  ijEijkxr Lr j  
(3) uS frd rk dk  i'p  ijEijkxr Lrj  
(4) uS frd rk dk  xS j ijE ijk xr L rj  

  
9. According to Kohlberg "a stage of 

moral development during which 

individuals judge morality largely in 

terms of existing social norms or rules" 

is known as which level of morality ? 

(1) preconventional level of morality 
(2) conventional level of morality 
(3) postconventional level of morality 
(4) unconventional level of morality 
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10. cky  vijk/ k dk d kj.k ugh augh augh augh a   gS % 
(1) 'k kjhf jd  nk s" k 
(2) xjhch 
(3) vl Qyrk 
(4) mfp r ?k js yw ok rko j.k  

  
10. Which is not the cause of delinquency ? 

(1) Physical defect 
(2) Poverty 
(3) Failure 
(4) Proper home environment 

11. fuEufy f[kr es a l s dkS u-l k ^l a Kk u* l s 
l E cf U/kr ugh augh augh augh a  gS \ 
(1) çR;{kcks/ k 
(2) f pa ru 
(3) p yuk 
(4) l a çR ;; fu/kkZ j.k 

  
11. Out of the following which is not 

related with 'Cognition' ? 

(1) Perception 
(2) Thinking 
(3) Walking  

(4) Concept formation 

12. fuEufy f[kr es a l s d kS u-l k  fo d Yi t hu f i;k ts 
}kjk çnÙk  ^^ew rZ l a f Ø ;kRed  vo LFkk ** dh 
fo 'ks" krk dk s n'k kZ rk gS \ 

(1) cPpk s a es a ^dk j.k-izHkk o l E cU/ k* rFkk  ^ oLrq 
d s LFkk f;Ro * l EcU/k h fo pk j fod fl r 
gks ukA 

(2) cky d  es a l a j{k.k  d s fl )kar d k s çk Ir 
d juk]  rk fd Zd  f op kjk s a d k çd V  gk s uk A 

(3) cky d  vius if jos'k  d ks l kad sfrd  :i l s 
n'kk Z uk vkjEHk d jrk gSA 

 (4) rkf d Zd  fo p kjks a d s fo fHkUu çk :i cukus es a 
l {ke gks uk A 

  
12. Out of the following which alternative 

shows characteristics of "Concrete 
Operational Stage" given by Jean Piaget ? 

(1) Development of idea of 'cause-
effect relationship' and 'object 
permanence' in children. 

(2) The child gains understanding of 
principles such as conservation 
logical thought emerges. 

(3) The child begins to represent the 
world symbolically. 

(4) Becomes capable of creating  
several forms of logical thought. 

13. d kS u-l k vf Hkçs j.k  d k ?k V d ughaughaughaugha  gS \ 
 
(1) vk o';d rk, ¡ (2) jV UrLef̀ r 
(3) vU ruks Z n (4) çk s Rl k gu 

  
13. Which is not the component of 

motivation ? 

(1) Needs (2) Rote Memory 
(3) Drives (4) Incentives 

14. O;fDrRo  l ek;ks tu d h çR;{k f of /k gS % 

(1) 'k ks/k u  
(2) ç{ks i.k  
(3) çrhixeu   
(4) ck/k k-f ujkd j.k 

  
14. Direct method of personality adjustment 

is : 

(1) Sublimation  

(2) Projection 
(3) Regression  

(4) Removing of hurdles 
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15. l a KkukR ed  fod kl d s ^^l ek t l ka LÑf rd 
fl )kU r* * dks fd l us çLrkf o r fd ;k  \ 
(1) t hu f i;k ts (2) y s o  o kbxks R Ldh 
(3) t s0 , l0 cz w uj (4) d ks gycxZ 

  
15. Who proposed "Sociocultural Theory" 

of cognitive development ? 

(1) Jean Piaget (2) Lev Vygotsky 
(3) J. S. Bruner (4) Kohlberg 

16. ^^ubZ l w p uk vksa dks iw o Z o rhZ fo |eku ekufl d 
l a jp uk  esa O;of LFkr d juk**  D;k d gyk rk  gS \ 
(1) vk Rel krd j.k (2) l ek fo " Vhd j.k 
(3) l a rq y uhd j.k (4) l a xBu 

  
16. "Incorporation of new information into 

existing mental frame works" is known 
as what ? 

(1) Assimilation (2) Accommodation 
(3) Equilibration (4) Organisation 

17. vius f 'k" ; ds l a os xkRed fod kl ds f y, 
v/;kid  dk s pkf g, f d % 
(1) o g f'k" ; d s ek rk-f irk d k LFk ku ys us 

d h dks f 'k'k d jsA 
(2) o g vius f'k" ; d s çfr çs e rFk k L us g 

f od fl r d jsA 
(3) o g vius f'k" ; d h 'kjkjr d s çfr Hkh 

çs e d k joS ;k viuk;sA 
(4) vius d q N p q fua nk  f 'k" ;ksa ds çf r i{kikr  

iw .kZ O;o gk j d jsA 

  
17. For the emotional development of his 

pupil the teacher should : 

(1) Try to usurp the place of pupil's 
parents. 

(2) Develop love and affection for his 
pupil. 

(3) Take a loveable attitude towards 
the mischief of the pupil. 

(4) Show favours to few selected 
pupils. 

18. mÙkj ck Y ;k o LFkk d k d ky  D;k  gS \ 
 
(1) 2 l s 6 o"kZ (2) 6 l s 12 o" kZ 
(3) 4 l s 7 o"kZ (4) 11 l s 15 o"k Z 

  
18. What is the age group of late childhood 

stage ? 

(1) 2 to 6 years (2) 6 to 12 years 
(3) 4 to 7 years (4) 11 to 15 years 

19. 

 

, u0 Mh0 vkbZ0 vfHk çs j.kk  l w = d s ço rZ d 
d kS u Fk s \ 
(1) eS d Mw xy  
(2) f gy xk MZ 
(3) Cy S ;j , oa t ks Ul  
(4) eS Lyk s 

  
19. 

 

Who was the propounder of N. D. I. 
motivation formula ? 

(1) McDougall  

(2) Hilgard 
(3) Blair and Jones 
(4) Maslow 

20. Fk LVZ u }k jk ^cq f)*  ds fy,  fd l  'kCn dk 
ç;k s x f d ;k x;k Fk k \ 
(1) çkFk fed  ekufl d  { kerk ,¡ 
(2) l koZHkkS fed  ek ufld  {k erk, ¡ 
(3) rV LFk ek uf ld  {k erk, ¡ 
(4) mPp ekufl d  {kerk ,¡ 

  
20. Which word was used by Thurstone for 

'intelligence' ? 

(1) Primary Mental Abilities 
(2) Universal Mental Abilities 
(3) Neutral Mental Abilities 
(4) Higher Mental Abilities 
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21. fuEufy f[kr es a l s d kS u-l h xfrfo f/k/{k s = dks 
fo | kFk hZ ds l gfo |k y;h/l g'k S f{k d i{k ds 
vUrxZ r u gh au gh au gh au gh a  f xuk t k ld rk \ 
(1) l kekftd  d kS'ky 
(2) vf Hko `fÙk  , oa ew Y; 
(3) l `tuk Red  d kS'ky 
(4) ikB~;p ;hZ fo "k ; 

  
21. Out of the following which activity/area 

may not be considered as co-scholastic 
aspect of learner ? 

(1) Social skill 
(2) Attitude and values 
(3) Creative skill 
(4) Curricular subjects 

22. igyh euks o S Kk fud  ç;ks x'kkyk  dh  LFk kiuk 
fd ld s }kjk d h xbZ \ 
(1) xkYV u (2) d S Vs y 
(3) is LV ky kW th (4) o q UV 

  
22. The first psychological laboratory was 

established by whom ? 

(1) Galton (2) Cattell 
(3) Pestalozzi (4) Wundt 

23. ^^ck ydk s a d h ;g l e> fd p kgs o s fdl h vU; 
fy a x/kk jh tSl s d iM+ s] cky ksa d h LVkby  viuk 
ys a]  rks Hkh  mud k Lo ;a d k fy a x ugh a cnys xk* * 
cky d ksa dh bl çd kj dh le> d ks D;k  d gk 
tk rk  gS \ 

(1) f ya x igpk u 
(2) f ya x f LFkjrk 
(3) f ya x l a xrrk 
(4) f ya x :f<+ c)rk  

  
23. "Children's understanding that their 

gender will not change even if they 
adopt the behaviour, dress, or hairstyles 
of the other gender". This type of 
children's understanding is known as 
what ? 

(1) Gender identity 
(2) Gender stability 
(3) Gender consistency 
(4) Gender stereotypes 

24. fo | kFk hZ d s O;f DrR o d s l exz f od kl dk 
vkdyu fdl rjg dk ewY;ka du dgykrk gS \ 

(1) l rr~ ew Y ;ka d u 
(2) l exz ew Y;ka d u 
(3) mijk s Dr (1) ,o a (2) nk s uk s a 
(4) mijk s Dr (1) ,o a (2) nk s uk s a ugha 

  
24. Assessment of all-round development 

of the child's personality is known as 
which type of evaluation ? 

(1) Continuous evaluation 
(2) Comprehensive evaluation 
(3) Above (1) and (2) both  

(4) Neither (1) nor (2) above 

25. fuEu es a ls d kS u-l h j{kkRed ;q f Dr u gh au gh au gh au gh a   gS \ 
(1) rknkR E;  
(2) {k friw f rZ 
(3) vk S fpR; LFk kiu 
(4) l kgp;Z  

  
25. Which of the following is not a defence 

mechanism ? 

(1) Identification 

(2) Compensation 

(3) Rationalisation 

(4) Association 
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26. ^n`f" V l s vks> y gks tk us ds ck n ef Lr" d  l s 
vk s> y gks tkuk*  fd l  f od kl kRed  voL Fkk dh 
fo 'ks" krk gS \ 
(1) l a os nh-xk ed  vo LFk k 
(2) iw o Z l a fØ ;k Red  voLFkk 
(3) ew rZ l a fØ ;kR ed  vo LFk k 
(4) vk S ip kf jd  l afØ ;k Red vo LFkk  

  
26. 'Out of sight out of mind' is 

characteristic of which of the following 
developmental stage ? 

(1) Sensory-motor stage 
(2) Pre operational stage 
(3) Concrete operational stage 
(4) Formal operational stage 

27. vf /kxe d k o g çd kj ftl es a f o|kF khZ nh xbZ 
vf /kxe l k exzh d h l gk ;rk l s u;s f o pkj ;k 
u;s f u; e d ks tkurs gq ,  l h[kus dk ç;kl 
d jrk gS] dk s D;k d grs gS a \ 
(1) jV d j lh[ k uk 
(2) vFk Z iw.k Z l h[ k uk 
(3) vf Hkxz g.k  lh[k uk 
(4) vU os "k .k l h[ kuk 

  
27. A type of learning in which students try 

to learn by emerging new rule through 
given learning material, is known as 
what ? 

(1) Rote learning 
(2) Meaningful learning 
(3) Reception learning 
(4) Discovery learning 

28. fuEufy f[kr es a ls d kS u-l k V s y j }kjk çnÙk 
l `t uk Red  Lrj fl )kU r dk  pkSFkk Lrj gS \ 
(1) Hk ko ck s/kd  l `tukR ed 
(2) mRiknd  l `tukRed 
(3) vf Hkuo l `tukRed 
(4) vk fo" dk jh l `t ukRed 

  
28. Out of the following which is fourth 

level of Taylor's level theory of 
creativity ? 

(1) Expressive creativity 
(2) Productive creativity 
(3) Innovative creativity 
(4) Inventive creativity 

29. fuEufy f[kr es a d kS u-lk fd 'kks jk oLFkk dk vU; 
uke u ghau ghau ghau gha  gS \ 
(1) ckY;ko LFk k rFkk  çk S <+ k oLFkk d s ch p d k 

l af/kdky 
(2) l eL;kR ed  vo LFk k 
(3) l a?k" kZ] ruk o rFkk  f o jks/k d h vo LFkk 
(4) LQ wfrZ vo LFk k 

  
29. Out of the following which is not the 

other name of Adolescence ? 

(1) Transitional period of childhood 
and adulthood 

(2) Problem age 
(3) Stage of stress, strain and storm 
(4) Smart age 

30. vPNs l ek ;k s tu dh fo 'ks" krk gS % 
(1) l gu'kh yrk 
(2) vk Refo 'okl es a d eh 
(3) l a os xkR ed  vf LFkjrk 
(4) vf u;fer f nup ;k Z  

  
30. Characteristic of good adjustment is : 

(1) Tolerance 
(2) Lack of confidence  
(3) Emotional unstability 
(4) Irregular life habit 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k % funsZ'k % funsZ'k % funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A    

31. ^gseUr dks [khj vPNh yxrh gS* – okD; fdl 
dkjd dk mnkgj.k gS \ 

(1) deZdkjd 

(2) laca/k dkjd 

(3) laiznku dkjd 

(4) vf/kdj.k dkjd 

 

32. okrZfud n`f"V ls v'kq) fodYi pqfu, % 

(1) nokb;k¡ 

(2) izkf.kfoKku 

(3) o`R;kuqizkl  

(4) e`R;wijkUr 

33. L=hfyax-iqfYyax dh n`f"V ls vuqfpr fodYi 
Nk¡fV, %  

(1) dq¡tM+k-dq¡tfM+u 

(2) rhrj-rhrfju 

(3) /kksch-/kksfcu 

(4) ikih-ikfiu 

34. izR;; dh n`f"V ls vlaxr fodYi crkb, % 

(1) fopkj.k + bZ; = fopkj.kh; 

(2) n`'k~ + rO; = nz"VO; 

(3) o`f".k + ,; = ok".ksZ; 

(4) oYehd + b = okYehfd 

35. fuEu esa ls fdl fodYi esa ^de* 'kCn dk 
fo'ks"k.kh; iz;ksx fd;k x;k gS \ 

(1) xehZ esa ^de* [kkuk pkfg,A 

(2) vkt mlus ^de* [kkuk [kk;kA 

(3) ^de* gh i<+ ikrs gSaA 

(4) ^de* cksyuk gh Js;Ldj gSA 

36. fdl fodYi esa }U} lekl dk mnkgj.k ugha ugha ugha ugha 
gS \ 

(1) Hk{;kHk{;  

(2) Ñ".kktqZu 

(3) #nzfiz;k  

(4) mfprkuqfpr 

37. foykse dh n`f"V ls csesy dks Nk¡fV, % 

(1) vk;Z-vuk;Z 

(2) moZj-vuqoZj 

(3) ,sfPNd-vfuok;Z 

(4) [ky-nqtZu 
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38. fdl fodYi esa ^vk* milxZ dk iz;ksx gqvk    

gS \ 

(1) vkR;fUrd  

(2) vkfrF; 

(3) vk[;kf;dk 

(4) vkf/kiR; 

 

39. fdl okD; esa ^vkKkFkZ* ¼fo/;FkZ½ o`fÙk dk 
iz;ksx gqvk gS \ 

(1) rqe vxj dgrs rks eSa ,slk t:j djrhA 

(2) lHkh dks vifjxzg dh Hkkouk j[kuh 
pkfg,A 

(3) usrk dks pkfg, fd og lewg ds izR;sd 
O;fDr dk lEeku djsA 

(4) eSa pkgrk gw¡ fd rqe Hkys balku cuksA 

40. i;kZ;okph dh n`f"V ls vlaxr fodYi pqfu, % 

(1) i{kh – 'kdqar] f}t] uHkpj 

(2) cSy – _"kHk] o`"kHk] v{k/kj 

(3) osn – vkEuk;] vkxe] vkdj 

(4) gfj.k – dqjax] Iyoax] lkjax 

41. ^HkkookP;* okyk fodYi pqfu, % 

(1) ukuh }kjk dgkuh lqukbZ xbZA 

(2) xfeZ;ksa esa jkst ugk;k tkrk gSA 

(3) Hkkjr }kjk u;k mixzg NksM+k x;kA 

(4) dksgyh us 'krd yxk;kA 

42. fdl okD; esa ^fuikr* dk iz;ksx gqvk gS \ 

(1) jke vkSj ';ke fnuHkj ls [ksy jgs gSaA 

(2) dfork vkt fnYyh tk jgh gSA 

(3) rqe vkt fnuHkj lksrs gh jgksxsA 

(4) esjh Hkkjh Hkwy Fkh tks mlds cgdkos esa 
vk x;kA 

43. fdl fodYi esa folxZ laf/k dk iz;ksx ugha ugha ugha ugha 
gqvk gS \ 

(1) frjks/kku  

(2) f'kjks/kk;Z 

(3) nhiksRlo  

(4) jtksHko 

44. ^nq?kZVuk D;ksa vkSj dSls gqbZ* – okD; esa iz;qDr 
fØ;k-fo'ks"k.k dk Hksn bafxr dhft, % 

(1) ifjek.kokpd  

(2) dkyokpd  

(3) jhfrokpd  

(4) LFkkuokpd  

45. ,dopu ls cgqopu cus fodYiksa esa vlaxr 
pqfu, % 
(1) Mkdw-Mkdqvksa 

(2) o/kw-o/kq,¡  

(3) rjcwtk-rjcqtkvksa 

(4) Hkkyw-Hkkyqvksa 
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  [ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction : Answer the following questions by selecting the most appropriate option.    

46. Choose the correct synonym for the 
word given below : 

Gallant 

(1) Valiant (2) Impolite 

(3) Rude (4) Fearful 

47. Choose the correct modal. 

Some people ………….. ski better than 
others. 
(1) must (2) can 
(3) could (4) should 

48. Fill in the blank with appropriate 
preposition.  

I paid the bill ………….. cash. 

(1) in  (2) at 
(3) for (4) with 

49. Choose the correct word for the sentence.  
A man who is womanish in his habits. 

(1) Arsonist  

(2) Epicure 

(3) Effeminate  

(4) Fealty 

50. Choose the correct antonym for the 
word given below : 

Bankrupt 

(1) Penniless 

(2) Insolvent 

(3) Ruined 

(4) Solvent 

51. Fill in the blank with the correct     
option : 

………….. doing the cooking, I look 
after the garden. 

(1) Beside 

(2) However 

(3) Besides 

(4) Therefore 

52. Choose the most appropriate form of 

Indirect speech for the given sentence. 

The teacher said to Hari, "Why did you 

not do your homework yesterday" ? 

(1) The teacher asked Hari why had he 

not done his homework the 

previous day ? 

(2) The teacher asked Hari why he had 

not done his homework the 

previous day ? 

(3) The teacher said to Hari why had 

he not done their homework the 

previous day ? 

(4) The teacher said Hari that he had 

not done his homework the 

previous day. 
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53. Choose the correct passive construction 
for the sentence given. 

We visited the zoo of Jaipur on last 
Sunday. 

(1) Zoo of Jaipur were visited by us on 

last Sunday. 

(2) On last Sunday the zoo of Jaipur 

was visited by us. 

(3) We were visited the zoo of Jaipur 

on last Sunday. 

(4) Zoo of Jaipur was being visited on 

Sunday last by us. 

54. Cooking is his hobby. 

The underlined word is used as a : 

(1) Verb 

(2) Gerund 

(3) Participle 

(4) Infinitive 

55. Choose the correct determiner. 

……………. knowledge is a dangerous 
thing. 

(1) The little (2) Little 

(3) A little (4) The few 

56. Choose the correct preposition. 

I had not slept or eaten anything 
properly ……………. two days. 

(1) since (2) from 

(3) in  (4) for 

57. Fill in the blank by choosing the correct 
option. 

The Headmaster and the Secretary 
……………. present in the meeting. 

(1) was (2) were 

(3) was being (4) were being 

58. Choose the correct form of verb. 

Did you not ……………. about the 

world Atlas. 

(1) knew (2) known 

(3) know (4) knows 

59. Choose the correct option for the 

underline word.  

Our parents have raised us to be a good 

citizen. 

(1) Brought up 

(2) Brought by 

(3) Brought out 

(4) Brought down 

60. Choose the word which is spelt 

correctly. 

(1) Commited 

(2) Committed 

(3) Comitteed 

(4) Committeed 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ] 

funsZ'k % funsZ'k % funsZ'k % funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    
 

61. fuEu Üka`[kyk dks iwjk djsa % 
WE, SG, PJ, LN, IS, ?  

(1) FZ (2) FX 
(3) EY (4) EX 

  61. Complete the following Series : 

WE, SG, PJ, LN, IS, ? 

(1) FZ (2) FX 
(3) EY (4) EX 

62. fuEUk oxZ Js.kh esa vxyk in Kkr dhft, % 

 

DHL, PTX, BFJ, ….. 

(1) CGK (2) KOS 

(3) NRV (4) OVZ 

  
62. Find the next term of the following 

letter series : 

DHL, PTX, BFJ, ….. 

(1) CGK (2) KOS 

(3) NRV (4) OVZ 

63. ,d dLcs dh tula[;k 8,500 gS] ;fn igys 
o"kZ blesa 20% o`f) gqbZ] nwljs o"kZ blesa 
25% o`f) gqbZ] rks nks o"kks± ckn bldh 
tula[;k fdruh gksxh \  
(1) 10,950 (2) 12,750 

(3) 11,950 (4) 12,550 

  63. The population of a town is 8,500. In 
first year it was increased by 20% and 
in second year again increased by 25%, 
then what is the total population after 
two years ?  

(1) 10,950 (2) 12,750 

(3) 11,950 (4) 12,550 

64. 18,000 #i;s ij 2 o"kZ ds 10% okf"kZd nj 
ls pØo`f) C;kt o lk/kkj.k C;kt dk vUrj 
D;k gksxk \ 
(1) 150  #i;s (2) 180 #i;s 
(3) 210 #i;s (4) 316 #i;s 

  
64. What is the difference between 

Compound interest and Simple interest 
on the amount of Rs. 18,000 in 2 years 
with the rate of 10% per year ? 
(1) Rs. 150 (2) Rs. 180 

(3) Rs. 210 (4) Rs. 316 

65. 14,500 #i;s lk/kkj.k C;kt ij 6 o"kZ esa 
21,460 #i;s gks tkrs gSa] C;kt dh okf"kZd nj    
D;k gS \  
(1) 4% (2) 10% 

(3) 6% (4) 8% 

  
65. The total amount of Rs. 14,500 with 

simple interest in 6 years is Rs. 21,460, 
find out the Rate of interest per     
annum ?  
(1) 4% (2) 10% 

(3) 6% (4) 8% 
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66. ,d f=Hkqtkdkj [ksr dh Hkqtk,¡ Øe'k% 20 
ehVj] 21 ehVj rFkk 29 ehVj gSa] bl [ksr ij 
15 #i;s izfroxZ ehVj dh nj ls Qly dkVus 
dk [kpZ D;k gksxk \ 
(1) 2,100 #i;s (2) 1,890 #i;s 
(3) 3,150 #i;s (4) 2,500 #i;s 

  
66. The sides of a triangular farm are 20 m, 

21 m and 29 m respectively. How much 
will be total expenses for cutting the crop 
at the rate of Rs. 15  per square meter ?  
(1) Rs. 2,100  (2) Rs. 1,890  
(3) Rs. 3,150  (4) Rs. 2,500  

67. ,d fdØsV eSp esa] 6 f[kykfM+;ksa dh vkSlr ju 
la[;k 36 FkhA ;fn buesa ls ,d f[kykM+h us 
16 ju cuk, gksa] rks 'ks"k f[kykfM+;ksa dh 
vkSlr ju la[;k fdruh gS \ 
(1) 24 (2) 30 
(3) 36 (4) 40 

  67. Average runs of 6 players in a cricket 
match was 36. If one player made 16 
runs, then what is the average runs of 
remaining players ?  
(1) 24 (2) 30 
(3) 36 (4) 40 

68. fuEufyf[kr Ükà[kyk dks iwjk djsa % 

24, 60, 120, 210, ?  

(1) 336 (2) 270 
(3) 512 (4) 500 

  
68. Complete the following series : 

24, 60, 120, 210, ?  

(1) 336 (2) 270 
(3) 512 (4) 500 

69. ,d cl rFkk ,d dkj dh pkyksa dk vuqikr 
6  : 7 gS] ;fn dkj 4 ?kaVs esa 364 fdeh dh 
nwjh r; djs] rks cl dh pky Kkr djsa % 

(1) 60 fdeh/?kaVk (2) 72 fdeh/?kaVk 

(3) 78 fdeh/?kaVk (4) 84 fdeh/?kaVk 

  
69. The ratio of speeds, of a Bus and Car is  

6  : 7. If car covers 364 Km distance in 

4 hours, what is the speed of Bus  ? 

(1) 60 Km/h (2) 72 Km/h 

(3) 78 Km/h (4) 84 Km/h 

70. fdlh lkadsfrd Hkk"kk esa GRANT dks 
UOBSH dgk tk,] TIME dks FNJU dgk 
tk;s] rks PRIDE dks D;k dgk tk,xk \ 

(1) QSJEF (2) OQHCD 

(3) FEJSQ (4) TPMED 

  
70. In a code language GRANT is written 

as UOBSH, TIME is written as FNJU 

how is PRIDE written in that language ? 

(1) QSJEF (2) OQHCD 

(3) FEJSQ (4) TPMED 

71. nks la[;kvksa dk vuqikr  3 : 5 gS] rFkk budk 
;ksxQy 240 gS] la[;kvksa dk vUrj D;k   
gksxk \ 
(1) 60 (2) 100 

(3) 120 (4) 90 

  
71. The ratio of two numbers are 3 : 5 and 

the addition of those numbers is 240, 
what is the difference of those    
numbers ? 

(1) 60 (2) 100 

(3) 120 (4) 90 
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72. fdlh la[;k ds 60% dk 3/5 ;fn 36 gks] rks 
la[;k dk eku D;k gksxk \  
(1) 60 (2) 100 

(3) 120 (4) 150 

  
72. If 3/5 of  60%  of a Number is 36, then 

the value of the number is :  

(1) 60 (2) 100 

(3) 120 (4) 150 

73. ;fn DRIVER = 12, PEDESTRIAN = 20,  

ACCIDENT = 16, rks CAR = ? 

(1) 3 (2) 6 

(3) 8 (4) 16 

  
73. If DRIVER = 12, PEDESTRIAN = 20, 

ACCIDENT = 16, then CAR = ? 

(1) 3 (2) 6 

(3) 8 (4) 16 

74. A rFkk B feydj fdlh dke dks 15 fnu esa 
lekIr djrs gSa] tcfd B vdsyk bls 20 fnu 
esa lekIr djrk gS] A vdsyk bl dke dks 
fdrus fnu esa lekIr djsxk \ 

(1) 60 (2) 45 

(3) 40 (4) 30 

  
74. A and B together can do a work in 15 

days, if B alone can do that work in 20 

days. Then how many days will A take 
to do same work alone ? 

(1) 60 (2) 45 

(3) 40 (4) 30 

75. yM+dksa dh ,d iafDr esa vfuy ck;sa Nksj ls 
16osa LFkku ij [kM+k gSA fodkl nk;as Nksj ls 
18osa LFkku ij gSA xksiky vfuy ls nk;ha vksj 
11osa LFkku ij gS] vkSj fodkl ls nk;ha Nksj 
dh vksj rhljs LFkku ij gSA bl iafDr esa 
fdrus yM+ds [kM+s gq, gSa \  
 

(1) 41 (2) 42 

(3) 48 (4) 49  

  
75. Anil is standing at 16th position from 

the left end in a row of boys. Vikas is at 

18th position from the right end. Gopal 
is 11th from Anil towards the right and 

3rd from Vikas towards the right end. 

How many boys are standing in this    
row ? 

(1) 41 (2) 42 

(3) 48 (4) 49 

76. fuEufyf[kr esa ls dkSu-lk yhi o"kZ gS \ 

(1) 1800 (2) 1900 

(3) 1700 (4) 2000 

  
76. Which of the following is a leap year ? 

(1) 1800 (2) 1900 

(3) 1700 (4) 2000 

77. fdlh lkadsfrd Hkk"kk esa "go home" dks "ta 

na" dgk tk, "sweet home" dks "na ja" 

dgk tk, ,oa "Sweet and Sour" dks "pa sa 

ja" dgk tk,] rks "Sour" dk dksM D;k gksxk \ 
(1) pa (2) sa 
(3) pa ;k sa (4) na 

  
77. In a certain code language "go home" is 

written as "ta na", "sweet home" is 
written as "na ja",  "Sweet and Sour" is 
written as "pa sa ja", then how "Sour" is 
coded as ? 
(1) pa (2) sa 
(3) pa or sa (4) na 
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78. nks O;fDr vius dk;kZy; ls vius-vius ?kj 
ds fy;s jokuk gksrs gSaA igyk O;fDr mÙkj 
fn'kk esa 8 fdeh] rFkk nwljk O;fDr iwoZ fn'kk 
esa 6 fdeh dh nwjh r; djds vius-vius ?kj 
igq¡p tkrs gSa] rks nksuksa O;fDr;ksa ds ?kj dh 
lh/kh nwjh fdruh gS \ 

(1) 10 fdeh  

(2) 12 fdeh 

(3) 14 fdeh  

(4) 15 fdeh 

  
78. Two persons depart from their office 

towards their houses. First person goes 

8 Km in north direction and second 

person goes 6 Km in East direction and 

reach their houses, find out the direct 

distance of their Houses ? 

(1) 10 Km  

(2) 12 Km 

(3) 14 Km  

(4) 15 Km 

79. 7 : 20 feuV ij ?kM+h dh cM+h lwbZ ls NksVh 
lwbZ ds chp fdrus va'k dk dks.k cusxk \ 
(1) 160° (2) 100° 

(3) 260° (4) 120° 

  
79. What will be the angle between minute 

end and hour end in a Clock at 7 : 20 \ 
(1) 160° (2) 100° 

(3) 260° (4) 120° 

80. fn;s x;s dFkuksa ds v/kkj ij lgh fu"d"kZ 
dkSu-lk gksxk \ 

dFku %dFku %dFku %dFku %    
(A) lHkh iÙks tM+sa gSaA 
(B) dqN tM+sa 'kk[kk,¡ gSaA 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    
(1) dqN iÙks 'kk[kk,¡ gSaA 
(2) dqN 'kk[kk,¡ tM+sa ugha gSaA 
(3) dksbZ 'kk[kk iÙkk ugha gSA 
(4) dqN tM+sa iÙks gSaA 

  
80. Which is the correct conclusion based 

on given statements ? 

Statement : 

(A) All leaves are roots. 
(B) Some roots are branches. 

Conclusion : 

(1) Some leaves are branches. 

(2) Some branches are not roots. 
(3) No branch is leaf. 

(4) Some roots are leaves. 

81. lksguk uxj izfl) gS % 

(1) ,sfrgkfld >hy ds fy, 

(2) ,sfrgkfld egy ds fy, 

(3) xeZ ty ds òksr ds fy, 

(4) cxhpksa ds fy, 

  
81. Sohna town is famous for : 

(1) Historical Lake 

(2) Historical Palace 

(3) Hot water Springs 

(4) Gardens 
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82. gfj;k.kk esa fdrus iz'kklfud eaMy ¼laHkkx½    
gSa \ 

(1) pkj  

(2) ik¡p 

(3) N%  

(4) lkr 

  
82. How many Administrative divisions are 

there  in Haryana ? 

(1) Four  

(2) Five 

(3) Six  

(4) Seven 

83. gfj;k.kk dk jkT; i'kq gS % 

(1) Ñ".k e`x  

(2) ,f'k;kbZ flag 

(3) fpadkjk  

(4) ck?k 

  
83. State animal of Haryana  is : 

(1) Black buck  

(2) Asiatic Lion 

(3) Chinkara  

(4) Tiger 

84. izrki flag us vaxzstksa ds fo#) dgk¡ fonzksg 
fd;k Fkk \ 

(1) jksgrd  

(2) than 

(3) vackyk  

(4) fljlk 

  
84. Where Pratap Singh revolted against the 

British ? 

(1) Rohtak  

(2) Jind 

(3) Ambala  

(4) Sirsa 

85. us'kuy dSalj bfULVV~;wV dgk¡ gS \ 

 

(1) lkaiyk  

(2) esge 

(3) cknlk  

(4) dykukSj 

  
85. Where is the National Cancer Institute 

situated ? 

(1) Sampla  

(2) Meham 

(3) Badsa  

(4) Kalanaur 
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86. gfj;k.kk esa ^csVh cpkvks-csVh i<+kvks vfHk;ku* 
dk czkaM ,EcslMj dkSu gS \ 

 

(1) vuq dqekjh 

(2) lk{kh efyd 

(3) dYiuk pkoyk 

(4) lkbZuk usgoky 

  
86. Who is the brand ambassador of 'Beti 

Bachao-Beti Padhao Campaign' in 

Haryana ? 

(1) Anu Kumari 

(2) Sakshi Malik 

(3) Kalpna Chawala 

(4) Saina Nehwal 

87. ftyk tks nwljs jkT;ksa ds lkFk lhek lk>k ughaughaughaugha 
djrk gS % 

(1) ikuhir (2) jksgrd 

(3) jsokM+h (4) iyoy 

  
87. The district which does not share 

boundary with other states is : 

(1) Panipat (2) Rohtak 

(3) Rewari (4) Palwal 

88. unh tks gfj;k.kk rFkk mÙkj izns'k ds e/; 
lhek cukrh gS % 

(1) ;equk (2) xaxk 

(3) lkfgch (4) ekjd.Mk 

  
88. The river, which makes border between 

Haryana and Uttar Pradesh : 

(1) Yamuna  (2) Ganga 

(3) Sahibi (4) Markanda 

89. gfj;k.kk dk 'kgj] tks jk"Vªh; jkt/kkuh {ks= 
dk fgLlk ughaughaughaugha gS % 
(1) xq#xzke  
(2) lksuhir 
(3) Qjhnkckn  
(4) fglkj 

  
89. The city of Haryana, which is not part 

of National Capital Region : 

(1) Gurugram  

(2) Sonipat 

(3) Faridabad  

(4) Hisar 

90. xq#xzke fdl izkphu xq# ls lacaf/kr gS \ 
 

(1) osn O;kl  
(2) nzks.kkpk;Z 
(3) ij'kqjke  
(4) Ñikpk;Z 

  
90. Gurugram is related to which ancient 

Guru ?  

(1) Ved Vyas  

(2) Dronacharya 

(3) Parashuram  

(4) Kripacharya 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

foKkufoKkufoKkufoKku / SCIENCE 

funsZ'k % funsZ'k % funsZ'k % funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the  most appropriate option.  

91. ,sY;qfefu;e dk v;Ld ^ckWDlkbV* gS % 
(1) 32OAl  

(2) 32OAl . OH 2  
(3) 32OAl . OH22  

(4) 63 AlFNa  

  91. The ore of aluminium 'bauxite' is : 

(1) 32OAl  

(2) 32OAl . OH2  
(3) 32OAl . OH22  

(4) 63 AlFNa  

92. fuEu ;kSfxdksa dh vEyh; lkeF;Z dk lghlghlghlgh Øe 
gS % 
(1) COOHCH3  > OHHC 56 > 32COH  

> OH2 > 22HC  
(2) COOHCH3  > 32COH > OHHC 56  

> 22HC > OH2  
(3) COOHCH3  > 32COH > OHHC 56  

> OH2 > 22HC  

(4) OHHC 56  > COOHCH3 > 32COH  

> 22HC > OH2  

  92. The correct order of acidic strength of 

the following compound is : 

(1) COOHCH3  > OHHC 56 > 32COH  

> OH 2 > 22HC  
(2) COOHCH3  > 32COH > OHHC 56  

> 22HC > OH 2  
(3) COOHCH3  > 32COH > OHHC 56  

> OH 2 > 22HC  

(4) OHHC 56  > COOHCH3 > 32COH  

> 22HC > OH 2  

93. nks ,dleku dq.Myh ftuesa leku /kkjk cg 
jgh gS ds dsUæ laikrh gSa ysfdu muds ry 
,d-nwljs ls ledks.k ij gSaA ;fn dsoy ,d 
dq.Myh }kjk {ks= B gS] rks dsUæ ij ifj.kkeh 
pqEcdh; {ks= dk ifjek.k D;k gS \ 

(1) B/2 (2) 2B 
(3) 2B/  (4) B2  

  93. Two identical coils carry equal currents 
and have a common center, but their 

planes are at right angles to each other. 

What is the magnitude of the resultant 
magnetic field at the center, if field due 

to one coil alone is B ? 

(1) B/2 (2) 2B 
(3) 2B/  (4) B2  

94. feJ.k esa ls inkFkks± dk ØksesVksxzkQh i`FkDdj.k 
fuEu ij fuHkZj djrk gS % 

(1) leku foyk;d esa mudh foys;rk 

(2) mudh ok"i'khyrk esa vUrj 
(3) leku ifjfLFkfr;ksa esa muds fHkUu jax 

(4) leku inkFkZ }kjk fHkUu vf/k'kks"k.k 

  94. Chromatographic separation of 
substances from a mixture depends on 

the basis of : 

(1) Their solubilities in the same 

solvent 

(2) The difference in their volatilities  
(3) Their different colours under 

similar conditions 

(4) The different extent of their 
adsorption by same material 



[ A ] [ 20 ] 

Level-2/4211  

95. ,d d.k dh jSf[kd ljy vkorZ xfr esa] 
ek/; fLFkfr ij % 
(1) osx vf/kdre rFkk Roj.k U;wure gksrk 

gS 
(2) osx U;wure rFkk Roj.k vf/kdre gksrk 

gS 
(3) osx rFkk Roj.k nksuksa U;wure gksrs gSa 

(4) osx rFkk Roj.k nksuksa vf/kdre gksrs gSa 

  95. In linear simple harmonic motion of a 

particle at mean position : 
(1) velocity is maximum and 

acceleration is minimum 

(2) velocity is minimum and 

acceleration is maximum 
(3) both velocity and acceleration are 

minimum 

(4) both velocity and acceleration are 

maximum 

96. xSlksa dh fof'k"V Å"ek ds ckjs esa dkSu&lk 
p;u lghlghlghlgh gS \ 
(1) bldk eku 'kwU; ls ysdj vuUr rd 

dksbZ Hkh /kukRed eku gks ldrk gSA 
(2) bldk eku _.kkRed Hkh gks ldrk gSA 
(3) bldk lqfuf'pr eku xSl ds xeZ fd;s 

tkus ds rjhds ij fuHkZj djrk gSA 
(4) mijksDr lHkh 

  96. Which option is correct about the 

specific heat of a gas ? 

(1) It have any positive value from 

zero to infinity. 

(2) It may have negative value. 

(3) Its exact value depends on mode of 

heating of gas. 
(4) All of the above 

97. ,d ckWDl ¼fMCcs½ dks fdl Roj.k ls uhps 
mrjuk pkfg, rkfd mlesa j[kk M æO;eku 
dk CykWd ckWDl ¼fMCcs½ ds ry ij mg/4 dk 
cy yxk;s \ 
(1) g/4 (2) g/2 
(3) 3g/4 (4) 4g/5 

  97. With what acceleration should a box 

descend so that a block of mass M, 

placed in it exerts force mg/4 on the 

floor of the box ? 
(1) g/4 (2) g/2 
(3) 3g/4 (4) 4g/5 

98. ,d rk¡cs dh NM+ dk rki fdruk c<+k;k tk;s 
fd bldh yEckbZ 1% c<+ tk;s \  

fn;k gS % rk¡cs ds fy, α = 0.00002/°C 

(1) 1000 K (2) 1000°C  

(3) 500 K (4) 500°C 

  98. How much should the temperature of a 

brass rod be increased so as to increase 

its length by 1% ?  

Given : for brass α = 0.00002/°C 

(1) 1000 K (2) 1000°C  

(3) 500 K (4) 500°C 

99. v/kksfyf[kr esa ls fdldk mi;ksx Ñf=e 
e/kqjd ds :i esa ughaughaughaugha gksrk gS \ 
(1) ,sLikVsZe (2) lqØksykst+ 
(3) lSdjhu (4) ukWj,fFkuMªkWu 

  99. Which of the following is not used as 

artificial sweetner ? 

(1) Aspartame (2) Sucrolose 
(3) Saccharin (4) Norethindrone 
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100. ,d xksyk ftldk nzO;eku 2.0 kg gS] dk 
js[kh; laosx le; t ds lkFk P = 3t

2 + 4 
:i esa ifjofrZr gksrk gS] tgk¡ P rFkk t, S.I. 
ek=d esa gSaA rnkuqlkj xksys dks xfr djuh 
pkfg, %  
 
(1) fu;r Roj.k ls 
(2) ifjofrZr Roj.k ls 
(3) fu;r pky ls 
(4) ifjofrZr pky ls 

  100. The linear momentum of a sphere of 

mass of 2.0 kg varies with time t as 
P = 3t

2 + 4, where P and t are in S.I. 

units. It follows that the sphere moving 

with a : 

(1) Constant acceleration 

(2) Variable acceleration 
(3) Constant speed 

(4) Variable speed 

101. vfHkfØ;k .....4224 ++ OCHKMnO  
......22 ++→ COMnO  ds lanHkZ esa 

4KMnO  dk rqY;kadh Hkkj gksxk % 

[ 4KMnO  dk v.kqHkkj = 158 ] 

(1) 158 (2) 52.66 
(3) 22.57 (4) 39.50 

  101. With reference to the reaction 4KMnO  

.......... 22422 ++→++ COMnOOCH

the equivalent weight of 4KMnO  
would be : 

[ Molar mass of 4KMnO  = 158 ] 
(1) 158 (2) 52.66 
(3) 22.57 (4) 39.50 

102. Ård Lrj laxBu jfgr esVktksvk dgykrs  
gSa % 
(1) çksVkstksvk  

(2) iSjktksvk 
(3) M~;wVsjksLVksfe;k 
(4) ;wesVktksvk 

  102. Metazoan without tissue grade 
organization are called : 
(1) Protozoa 

(2) Parazoa 
(3) Deuterostomia 

(4) Eumetazoa 

103. jkbckslksEl cus gksrs gSa % 
(1) Mh,u, ,oe~ vkj,u, ds 
(2) vkj,u, ,oe~ çksVhu ds 
(3) Mh,u, ,oe~ çksVhu ds 
(4) vkj,u, ,oe~ vehuks vEy ds 

  103. Ribosomes are formed of : 

(1) DNA and RNA 

(2) RNA and Protein 
(3) DNA and Protein 

(4) RNA and Amino acids 

104. tc ,d nzO;eku] ,d ux.; nzO;eku dh 
fLizax ds uhps fljs ij yVdk;k tkrk gS] fLizax 
esa x foLrkj mRiUu gks tkrk gSA nzO;eku 
Å/okZ/kj nksyu LFkkfir djrk gSA nksyu dk 
vkoZrdky gS % 

(1) 
g

x
T π2=  (2) 

g

x
T

2
2π=  

(3) 
g

x
T

2
2π=  (4) 

g

x
T π2=  

  104. When a mass is hung from the lower of 

a spring of negligible mass, an 

extension x is produced in spring. The 

mass is set into vertical oscillations. 

The time period of oscillation is : 

(1) 
g

x
T π2=  (2) 

g

x
T

2
2π=  

(3) 
g

x
T

2
2π=  (4) 

g

x
T π2=  
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105. dkWye dks lqesfyr dhft, % 
 /kkrq/kkrq/kkrq/kkrq     fu"d"kZ.k dh lkekU; fu"d"kZ.k dh lkekU; fu"d"kZ.k dh lkekU; fu"d"kZ.k dh lkekU; 

fof/kfof/kfof/kfof/k 
(i) ,sY;qfefu;e (a) xfyr Øk;ksykbV esa foys; 

vkWDlkbM dk oS|qr vi?kVu 
(ii) vk;ju (b) HktZu rr~i'pkr~ dksd 

}kjk vip;u 
(iii) dkWij ¼rk¡ck½ (c) lYQkbM v;Ld dk vkaf'kd 

HktZu rFkk vip;u 
(iv) ftad (d) okR;k Hkêh esa CO rFkk dksd 

ds lkFk vkWDlkbM dk 
vip;u 

 

 (i) (ii) (iii) (iv) 

(1) (a) (b) (c) (d) 

(2) (a) (d) (c) (b) 

(3) (a) (c) (d) (b) 

(4) (b) (a) (c)  (d) 

  105. Match the column : 

 Metal  Common method of 

extraction 

(i) Aluminium (a) Electrolysis of oxide 

dissolved in molten 

cryolite 

(ii) Iron (b) Roasting followed by 

reduction with coke 

(iii) Copper (c) Roasting of sulphide 

partially and reduction 

(iv) Zinc (d) Reduction of the oxide 

with CO and coke in 

blast furnace 

 (i) (ii)     (iii)      (iv) 

(1) (a) (b) (c) (d) 

(2) (a) (d) (c) (b) 

(3) (a) (c) (d) (b) 

(4) (b) (a) (c)  (d) 

106. v/kZlw=h foHkktu dh fdl voLFkk esa 
ØksesfVM~l Li"V fn[krs gSa \ 
(1) tkbxksVhu (2) iSdhVhu 
(3) fMIyksVhu (4) Mkbdkbfufll 

  106. In which stage are chromatids clearly 

visible in meiosis ? 
(1) Zygotene (2) Pachytene 
(3) Diplotene (4) Diakinesis 

107. ,d d.k fu;r Roj.k ls fojke voLFkk ls 
'kq: gksrk gSA fdlh le; t lsd.M ij mldh 
pky 100 m/s gS rFkk blds ,d lsd.M ckn  
pky 150 m/s gks tkrh gSA blds Roj.k rFkk           
(t + 1)osa lsd.M eas r; dh xbZ nwjh ds eku 
Øe'k% gksaxs % 
(1) 50 m/s2 vkSj 125 m 

(2) 25 m/s2 vkSj 125 m 
(3) 50 m/s2 vkSj 200 m 

(4) 75 m/s2 vkSj 200 m 

  107. A particle starts from rest with a constant 
acceleration. At a time t second, the speed 
is found to be 100 m/s and one second 
later the speed becomes 150 m/s. The 
value of acceleration and the distance 
travelled during the (t + 1)th  second will 
be respectively : 
(1) 50 m/s2 and 125 m 
(2) 25 m/s2 and 125 m 
(3) 50 m/s2 and 200 m 
(4) 75 m/s2 and 200 m 

108. vehck esa ijklj.k fu;eu gksrk gS % 

(1) ladqpu'khy /kkfu;ksa }kjk 
(2) [kk| /kkfu;ksa }kjk 
(3) IykTek tsy }kjk 
(4) IykTekysek }kjk 

  108. Osmoregulation in Amoeba takes place 

by : 
(1) Contractile Vacuole 

(2) Food Vacuole 
(3) Plasma gel 
(4) Plasmalemma 
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109. 2-czkseksC;wVsu esa ls HBr ds foyksiu ls curk 
gS % 
(1) 1- o 2-C;wVhu dk levkf.od feJ.k 
(2) eq[;r% 2-C;wVhu 
(3) eq[;r% 1-C;wVhu 
(4) eq[;r% 2-C;wVkbZu 

  109. Elimination of HBr from 2-bromobutane 

results in the formation of : 
(1) Equimolar mixture of 1- and 2-butene 
(2) Predominantly 2-butene 
(3) Predominantly 1-butene 
(4) Predominantly 2-butyne 

110. fuEufyf[kr esa ls dkSu-ls ikni dk okLrfod 
ruk Hkwfexr gksrk gS \ 
(1) dsyk (2) ck¡l 
(3) iqnhuk (4) xUuk 

  
110. The true stem of which of the following 

plant is underground ? 
(1) Banana (2) Bamboo 
(3) Mint (4) Sugarcane 

111. Hkkjghurk dh voLFkk esa] fi.M % 
(1) u dksbZ Hkkj j[krs gSa] u dksbZ tM+Ro 

gksrk gS 
(2) Hkkj j[krs gSa] tM+Ro Hkh j[krs gSa 
(3) dksbZ Hkkj ugha j[krs] ijUrq tM+Ro gksrk gS 
(4) Hkkj j[krs gSa ijUrq dksbZ tM+Ro ugha 

gksrk gS 

  111. In the weightlessness state, bodies : 

(1) have no weight, no inertia 
 

(2) have weight, have inertia 

(3) have no weight, but posses inertia 

(4) have weight, but don’t posses 
inertia 

112. rkjkiqj ukfHkdh; la;a= tks fd 106 kW ij 
dk;Zjr gS] eas fdruk nzO;eku izfrfnu ÅtkZ esa 
ifjofrZr fd;k tkrk gS \ 
(1) 0.16 g (2) 0.32 g 
(3) 0.64 g (4) 0.96 g 

  112. How much mass is converted into 

energy per day in Tarapur Nuclear 

Power Plant operated at 106 kW ? 

(1) 0.16 g (2) 0.32 g 
(3) 0.64 g (4) 0.96 g 

113. n ,oa l Dok.Ve la[;k }kjk n'kkZ;s x;s 
bysDVªkWu % 
(a) n = 4, l = 1 

(b) n = 4, l = 0 

(c) n = 3, l = 2 

(d) n = 3, l = 1 

dks bl çdkj mudh ÅtkZ ds c<+rs gq, Øe 
esa j[kk tk ldrk gS % 
(1) (a) < (c) < (b) < (d) 

(2) (c) < (d) < (b) < (a) 

(3) (d) < (b) < (c) < (a) 

(4) (b) < (d) < (a) < (c) 

  113. The electrons identified by quantum 
numbers n and l : 
(a) n = 4, l = 1 

(b) n = 4, l = 0 

(c) n = 3, l = 2 

(d) n = 3, l = 1 

can be placed in order of increasing 

energy as : 
(1) (a) < (c) < (b) < (d) 

(2) (c) < (d) < (b) < (a) 

(3) (d) < (b) < (c) < (a) 

(4) (b) < (d) < (a) < (c) 



[ A ] [ 24 ] 

Level-2/4211  

114. fuEufyf[kr esa ls fdl ikni dh tM+ ,d 
[kk| laxzg.k vax gS \ 
(1) vkyw (2) I;kt 
(3) 'kdjdUn (4) vnjd 

  114. In which of the following plants root is 
the food storage organ ? 
(1) Potato (2) Onion 

(3) Sweet Potato (4) Ginger 

115. lkoZf=d dwV esa fuEu esa ls dkSu-lk fujFkZd 
çdwV gS \ 
(1) UAG (2) UGG 
(3) UGC (4) UAC 

  115. Which one of the following is a 

nonsense codon in universal code ? 

(1) UAG (2) UGG 
(3) UGC (4) UAC 

116. nks çdk'k òksr dyk lEc) dgyk;saxs] ;fn os 
mRlftZr djrs gSa % 

(1) leku rhozrk dk çdk'k 

(2) leku vko`fÙk dh rjaxsa 

(3) rjaxsa ftudk dykUrj fu;r gks 

(4) rjaxsa ftudk osx leku gks 

  116. Two light sources are said to be 

coherent if they emit : 

(1) light of same intensity 

(2) waves of same frequency 

(3) waves having constant phase 

difference 

(4) waves of same velocity 

117. ,d Lofj= A ftldh vko`fÙk 384 Hz gS] dks 
tc nwljs Lofj= B ds lkFk ctk;k tkrk gS 
rc og 2 lsd.M esa 6 foLian nsrk gSA B dh 
vko`fÙk gks ldrh gS % 
(1) 382, 386 (2) 381, 387 
(3) 378, 390 (4) 380, 384 

  117. A tuning fork A of frequency 384 Hz 

gives 6 beats in 2 second when sounded 

with another tuning fork B. The 

frequency of B could be ? 

(1) 382, 386 (2) 381, 387 
(3) 378, 390 (4) 380, 384 

118. 3FeCl  ds tyh; foy;u dk pH gksxk %  

(1) 7 ls de (2) 7 
(3) 7 ls vf/kd (4) 14 ls vf/kd 

  118. The pH of an aqueous solution of 3FeCl  
will be :  

(1) less than 7  (2) 7 
(3) more than 7 (4) more than 14   

119. tc ,d flYd ¼js'ke½ dk diM+k] dk¡p dh 
NM+ ls jxM+k tkrk gS] rc NM+ % 
(1) vkSj diM+k /kukRed vkos'k vftZr dj 

ysrs gSaA 
(2) vkSj diM+k _.kkRed vkos'k vftZr dj 

ysrs gSaA 
(3) /kukRed vkosf'kr rFkk diM+k _.kkRed 

vkosf'kr gks tkrk gSA 
(4) _.kkRed vkosf'kr rFkk diM+k /kukRed 

vkosf'kr gks tkrk gSA 

  119. When a Silk cloth is rubbed with a glass 

rod, the rod : 

(1) and the cloths acquires positive 
charge. 

(2) and the cloth acquires negative 

charge. 

(3) becomes positive charged while the 

cloth is negatively charged. 

(4) becomes negative charged while 

the cloth is positive charged. 
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120. fuEu esa ls vf/kdre fØ;k'khy gSykbM gS % 

(1) ClCHCH .. 23  
(2) ClCHCH .2 =  
(3) ClCHCHCH ... 223  
(4) ClCHCHCH .. 22 =  

  120. Which of the following halide is most 

reactive ? 
(1) ClCHCH .. 23  
(2) ClCHCH .2 =  
(3) ClCHCHCH ... 223  
(4) ClCHCHCH .. 22 =  

121. iksVSf'k;e ijek.kq ds bysDVªkWu dh pkjksa 
Dok.Ve la[;k,¡ gSa % 
(1) 4, 0, −1, 1/2 (2) 4, 1, 0, 1/2 
(3) 4, 0, 0, 1/2 (4) 4, 1, 1, −1/2 

  121. The four quantum numbers of the 
valence electron of potassium atom are : 
(1) 4, 0, −1, 1/2 (2) 4, 1, 0, 1/2 
(3) 4, 0, 0, 1/2 (4) 4, 1, 1, −1/2 

122. ,d cYc ftldk izfrjks/k 10 Ω rFkk ,d 
izsjd ftldk izsjdRo L gS] ,d œeksr ftu ij 
100 V, 50 Hz vafdr gS] ls Js.khØe eas tqM+s 
gq, gSaA ;fn oksYVrk rFkk /kkjk ds e/; dykUrj 
π/4 jsfM;u gS] rc L dk eku gksxk % 
 
(1) 0.0318 H (2) 0.318 H 
(3) 0.0787 H (4) 0.787 H 

  122. A bulb of resistance 10 Ω, connected to 
an inductor of inductance L, is in series 
with an source marked 100 V, 50 Hz. If 
the phase angle between the voltage and 
current is π/4 radian. The value of L will 
be : 
(1) 0.0318 H (2) 0.318 H 
(3) 0.0787 H (4) 0.787 H 

123. N% ysM ,flM izdkj ds f}rh;d lsy ftuesa 
izR;sd dk fo- ok- cy 2.0 V rFkk vkUrfjd 
izfrjks/k 0.015 Ω gSA 8.5 Ω ds izfrjks/k dks 
vkiwfrZ nsus gsrq Js.khØe esa tqM+s gq, gSaA vkiwfrZ 
}kjk [khaph ¼nh½ xbZ /kkjk dk eku gksxk % 
(1) 0.24 A (2) 0.72 A 
(3) 1.20 A (4) 1.40 A 

  123. Six lead acid type of secondary cells 
each of emf 2.0 V and internal resistance 
0.015 Ω are connected in series to 
provide a supply to a resistance of 8.5 Ω. 
The value of current drawn from supply 
will be : 
(1) 0.24 A (2) 0.72 A 
(3) 1.20 A (4) 1.40 A 

124. lHkh dod gksrs gSa % 
(1) iw.kZiks"kh (2) e`riks"kh 
(3) fo"keiks"kh (4) ,tksVªksQ 

  124. All fungi are : 
(1) Holotrophs (2) Saprotrophs 
(3) Heterotrophs (4) Azotrophs 

125. vk;fud cU/k ds fuekZ.k ds lUnHkZ esa fuEu 
dFkuksa dks if<+;s % 
(a) NksVk /kuk;u] cM+k _.kk;u 
(b) /kuk;u ij de vk;fud foHko] _.kk;u 

dh mPp oS|qr cU/kqrk 
(c) cM+k /kuk;u] NksVk _.kk;u ,oa de 

vkos'k 
(d) de tkyd ÅtkZ 
fuEu dFkuksa ds lewg esa ls dkSu-lk lghlghlghlgh    gS \ 
(1) (a) ,oa (d) (2) (b), (c) ,oa (d) 

  125. Read the following statements for the 
formation of ionic bond : 
(a) small cation, large anion 
(b) low IP of cation, high EA of anion 

 
(c) large cation, small anion and less 

charge 
(d) less lattice energy 
Which of the following groups of 
statements is correct ? 
(1) (a) and (d) (2) (b), (c) and (d) 
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(3) (b) ,oa (c) (4) (a) ,oa (b) (3) (b) and (c) (4) (a) and (b) 

126. B. O. D. ¼tSo jklk;fud vkWDlhtu ek¡x½ 
lEcfU/kr gS % 
(1) dkcZfud inkFkZ ls 
(2) lw{e thok.kq ls 
(3) lw{e thok.kq ,oa dkcZfud inkFkZ ls 
(4) mijksDr esa ls fdlh ls Hkh ugha  

  126. B. O. D. (Biological Oxygen Demand) 

is connected with : 

(1) Organic matter 

(2) Microbes 

(3) Microbes  and Organic matter 

(4) None of the above  

127. fuEu esa ls fdl la?k ds tUrqvksa esa vjh; 
lefefr gksrh gS \    
(1) vkFkzksZiksMk  
(2) ,usfyMk 
(3) bdkbZuksMesZVk 
(4) IySfVgSfYeUFkl 

  127. Which one of the following phylum 

having animal with radial symmetry ? 

(1) Arthropoda  
(2) Annelida 
(3) Echinodermata 

(4) Platyhelminthes 

128. fuEu esa ls dkSu-lk leo`fÙkrk dk mnkgj.k  
gS \ 
(1) euq"; dk gkFk rFkk ?kksM+s dk iSj 
(2) uj esa o"̀k.k rFkk eknk esa vaMk'k; dk 

leku Hkzw.kh; Årdksa ls fodflr gksuk 
 

(3) if{k;ksa rFkk pexknM+ ds ia[k 
(4) e/kqeD[kh rFkk ?kjsyw eD[kh ds eq[kkax 

  128. Which one of the following is an 

example of Analogy ? 
(1) Hand of man and leg of horse 

(2) Testis in males and ovaries in 

female develop from same 

embryonic tissue 
(3) Wings of birds and bat 
(4) Mouth parts of honeybee and 

housefly 

129. ,d /kkrq 2 ?kuh; voLFkkvksa fcc rFkk bcc esa 
fØLVyhÑr gksrk gS ftldh bdkbZ lsy 
yEckb;k¡ Øe'k% 3.5 D rFkk 3.0 D gSA buds 
?kuRoksa dk vuqikr gS % 
(1) 1.25 (2) 2.04 
(3) 0.72 (4) 3.12 

  129. A metal crystallizes in 2 cubic phases 

fcc and bcc whose unit length are 3.5 D 

and 3.0 D respectively. The ratio of 

their densities is :  
(1) 1.25 (2) 2.04 
(3) 0.72 (4) 3.12 

130. fuEu esa ls dkSu ^thok'e b±/ku* ughaughaughaugha gS \ 
 
(1) izkd`frd xSl  (2) isVªksfy;e 
(3) dks;yk (4) ydM+h 

  130. Which of the following is not a Fossil 

Fuel ? 

(1) Natural Gas (2) Petrolium 

(3) Coal (4) Wood 

131. euq";ksa esa vijk gksrk gS % 
(1) gheksdksfj;y  
(2) ,fiFkhfy;ksdksfj;y 
(3) flUMSLeksdksfj;y  

  131. The placenta in human is : 
(1) Haemochorial 
(2) Epitheliochorial 
(3) Syndesmochorial 
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(4) gheks,UMksFkhfy;y (4) Haemoendothelial 

132. fn;s x;s œeksrksa esa ls dkSu loZJs"B ,do.khZ; 
izdk'k nsxk \ 
(1) ,d cYc ¼lkekU;½ 
(2) ,d ,y bZ Mh (LED) cYc 
(3) ,d edZjh ufydk 
(4) ,d yslj 

  132. Which of the following sources gives 

best monochromatic light ? 

(1) A Bulb (ordinary) 

(2) A LED Bulb 

(3) A Mercury Tube 

(4) A Laser 

133. fuEu dFkuksa esa ls % 
(a) PMMA vk¡[k ds ysUl cukus esa ç;qDr 

gksrk gSA 
(b) dsçksysDVe ls ukbykWu-66 dk fuekZ.k 

gksrk gSA 
(c) ukbykWu in o`f) cgqyd gSA 
(d) oYduhdj.k çfØ;k pkYlZ xqMb;j us nhA 
(1) (a), (b) rFkk (c) lgh gSa 
(2) (a), (c) rFkk (d) lgh gSa 
(3) (b), (c) rFkk (d) lgh gSa 
(4) (a), (b) rFkk (d) lgh gSa 

  133. Of the following statements : 
(a) PMMA is used in making eye 

lenses. 
(b) Nylon-66 is manufactured by 

caprolactum. 
(c) Nylon is the step growth polymer.  
(d) Vulcanisation was introduced by 

Charles Goodyear. 

(1) (a), (b) and (c) are correct 
(2) (a), (c) and (d) are correct 
(3) (b), (c) and (d) are correct 
(4) (a), (b) and (d) are correct 

134. lwphlwphlwphlwph-I dks lwphlwphlwphlwph-II ds lkFk lqesfyr djsa ,oa 
lwph esa uhps fn;s x;s dwVksa dk mi;ksx dj 
lghlghlghlgh mÙkj dk p;u djsa % 

 lwphlwphlwphlwph-I     lwphlwphlwphlwph-II 

A. 32ON º 2NONO +  (i) )(RTkk CP =  

B. 32NH º 22 3HN +  (ii) )(RTkk PC =  

C. 222 OSO + º 32SO  (iii) PC kk =  
D. 22 ON + º 2NO (iv) 

2)(RTkk CP =

dwV %dwV %dwV %dwV %    
 A B C D 

(1) (i) (iv) (ii) (iii) 

(2) (i) (ii) (iii) (iv) 

(3) (iv) (iii) (i) (ii) 

(4) (iii) (iv) (ii) (i) 

  134. Match List-I and List-II and choose the 

correct answer from the codes given 

below the lists : 

 List-I     List-II 

A. 32ON º 2NONO +  (i) )(RTkk CP =  

B. 32NH º 22 3HN +  (ii) )(RTkk PC =  

C. 222 OSO + º 32SO  (iii) PC kk =  
D. 22 ON + º 2NO (iv) 

2)(RTkk CP =

Codes : 

 A B C D 

(1) (i) (iv) (ii) (iii) 

(2) (i) (ii) (iii) (iv) 

(3) (iv) (iii) (i) (ii) 
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(4) (iii) (iv) (ii) (i) 

135. can iq"iksa esa gksus okys ijkx.k ds fy, ç;qDr 
'kCn gS % 
(1) ,syksxSeh (2) fDyLVkssxSeh 
(3) gjdksxSeh (4) MkbdksxSeh 

  135. Term used for pollination which takes 

place in closed flowers is : 
(1) Allogamy (2) Cleistogamy 
(3) Herkogamy (4) Dichogamy 

136. 2006 rd lkSj e.My esa ukS xzg FksA vc 
dsoy vkB xzg gh lkSj e.My ds lnL; gSaA 
uhps fn;s x;s xzgksa eas ls dkSu&lk xzg vc 
lkSj e.My dk lnL; ughaughaughaugha gS \ 

(1) v#.k (2) IywVks 
(3) o#.k (4) bueas ls dksbZ ugha 

  136. Till 2006 there were Nine planets in the 

solar system. Now their are only Eight 

planets in the solar system. Out of these 

planets, which planet is not a member 

of solar system now ? 
(1) Uranus (2) Pluto 
(3) Neptune (4) None of these 

137. ,d fizTe dk viofrZr dks.k A rFkk 
viorZukad cot A/2 gSA U;wure fopyu dks.k 
gS % 
(1) 180° – A (2) 180° – 2A 
(3) 180° – 3A (4) 180° – 4A 

  137. The refracting angle of a prism is A and 

the refractive index is cot A/2. The 

angle of minimum deviation is : 

(1) 180° – A (2) 180° – 2A 
(3) 180° – 3A (4) 180° – 4A 

138. ØkUt 'kjhj jpuk ns[kh tkrh gS % 
(1) 2C  ikniksa esa (2) 3C  ikniksa esa 
(3) 4C  ikniksa esa (4) CAM ikniksa esa 

  138. Kranz anatomy is observed in : 
(1) 2C  plants (2) 3C  plants 

(3) 4C  plants (4) CAM  plants 

139. fuEu esa ls fdldh lajpuk prq"Qydh; ughaughaughaugha 
gS \ 
(1) −3

4PO  (2) −2
4SO  

(3) −

4BF  (4) 4XeF  

  139. Which of the following does not have 

tetrahedral structure ? 
(1) −3

4PO  (2) −2
4SO  

(3) −

4BF  (4) 4XeF  

140. LieZ dk ,Økslkse] LiesZfVM ds fdl Hkkx ls 
curk gS \ 
(1) lsUVªkslkse 

(2) xkWYth dk; 
(3) ekbVksdkWfUMª;k 
(4) jkbckslkse 

  140. Acrosome of sperm is formed from 
which part of spermatid ? 

(1) Centrosome 

(2) Golgi body 
(3) Mitochondria 

(4) Ribosome 

141. ,d ,Ydhu dh fØ;k vkstksu ds lkFk djkus 
ds i'pkr~ cuk ;kSfxd ty vi?kVu djkus ij 
2-isUVsuksu ,oa ,FksuSy nsrk gSA ,Ydhu gS % 
 

(1) 4-esfFky-4-gsDlhu 

(2) 2-esfFky-3-gsDlhu 

  141. An alkene was treated with ozone and 

the resulting compound on hydrolysis 

gave 2-pentanone and ethanal. The 

alkene is : 

(1) 4-methyl-4-hexene 

(2) 2-methyl-3-hexene 
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(3) 2-çksfiy-2-C;wVhu 
(4) 3-esfFky-2-gsDlhu 

(3) 2-propyl-2-butene 
(4) 3- methyl-2-hexene 

142. fuEu esa ls dkSu-lk dFku dkcZu ifjokj esa 
ijek.kq òf) ds lkFk rÙoksa ds xq.kksa ds lkis{k 
lghlghlghlgh gS \ 
(1) ijek.kq vkdkj ?kVrk gS 
(2) vk;uu ÅtkZ c<+rh gS 
(3) /kkfRod y{k.k ?kVrk gS 
(4) +2 vkWDlhdj.k voLFkk dk LFkkf;Ro 

c<+rk gS 

  142. Which of the following statement is 

correct with respect to property of 

elements in the carbon family with an 

increase atomic number, their ? 

(1) Atomic size decreases 

(2) Ionization of energy increases 

(3) Metallic character decreases 

(4) Stability of +2 oxidation state 

increases 

143. thok.kq] fuEu dh mifLFkfr esa ekbdksIykTek ls 
fHkUu gksrs gSa % 
(1) dsUædkHk 
(2) IykTek f>Yyh 
(3) 70-S jkbckslkse 
(4) n`<+ dksf'kdk fHkfÙk 

  143. Bacteria differs from mycoplasma in 

having : 

(1) Nucleoides  
(2) Plasma membrane 

(3) 70-S ribosome 

(4) Rigid cell wall 

144. fuEufyf[kr esa ls dkSu-lk ,d ckLV rarq ughaughaughaugha 
gS \ 
(1) dks;j ¼tVk½ (2) twV 
(3) gsEi (4) ¶ySDl 

  144. Which of the following is not a bast 

fiber ? 

(1) Coir (2) Jute 
(3) Hemp (4) Flax 

145. uhps fn, x, dwVksa dh lgk;rk ls fuEufyf[kr 
oxhZdj.k Jsf.k;ksa dk lgh vojksgh vuqØe 
pqfu, % 
(A) oa'k (B) x.k 
(C) oxZ (D) tkfr 
(E) dqy 
(1) ECBDA (2) EBCAD 
(3) CBEAD (4) CEBDA 

  145. Choose the correct descending sequence 

of the following taxonomic categories 

using the codes given below : 

(A) Genus (B) Order 
(C) Class (D) Species 
(E) Family 
(1) ECBDA (2) EBCAD 
(3) CBEAD (4) CEBDA 

146. ,d mÙky ysal vius eq[; v{k ij j[ks gq, 
fcUnq œeksr dk okLrfod izfrfcEc cukrk gSA 
;fn ysal dk Åijh vk/kk Hkkx dkyk dj fn;k 
tk;s] rks % 
(1) izfrfcEc uhps dh rjQ LFkkukUrfjr gks 

tk;sxkA 
(2) izfrfcEc Åij dh rjQ LFkkukUrfjr gks 

tk;sxkA 

  146. A convex lens forms a real image of a 

point object placed on its principal axis. 

If the upper half of the lens is painted 

black, then : 

(1) the image will be shifted 

downwards.  

(2) the image will be shifted upwards. 

(3) the image will not be shifted. 



[ A ] [ 30 ] 

Level-2/4211  

(3) izfrfcEc LFkkukUrfjr ugha gksxkA 
(4) izfrfcEc dh rhozrk ugha cnysxhA 

(4) the intensity of image will not 

change. 

147. QkbVksØkse lacaf/kr gS % 
(1) çdk'kQkWLQksfjyhdj.k ls 
(2) çdk'knhIrdkfyrk ls 
(3) DykbesDVfjd çHkko ls 
(4) çdk'k'olu ls 

  147. Phytochrome is related to : 

(1) Photophosphorylation 

(2) Photoperiodism 
(3) Climacteric effect 

(4) Photorespiration 

148. fuEu dks mudh ?kVrh gqbZ {kkj lkeF;Z ds Øe 
esa O;fLFkr dhft, % 

,256 NHHC   ,2462 NHHCNOp −   

       I                            II 

,2462 NHHCNOm −  2463 NHHOCCHp −  

              III                         IV 

(1) IV > I > III > II 

(2) IV > III > II > I 

(3) III > II > I > IV 

(4) I > IV > II > III 

  148. Arrange the following in the decreasing 

order of their base strength : 
,256 NHHC   ,2462 NHHCNOp −   

       I                            II 

,2462 NHHCNOm −  2463 NHHOCCHp −  

              III                         IV 

(1) IV > I > III > II 

(2) IV > III > II > I 

(3) III > II > I > IV 

(4) I > IV > II > III 

149. chtk.kqn~fHkn dh dkf;d dksf'kdkvksa ls] fcuk 
chtk.kqvksa ds lh/ks cus ;qXedksn~fHkn dk fodkl 
dgykrk gS % 
 
(1) vichtk.kqrk  
(2) vi;qXeu 

(3) vfu"ksdtuu  
(4) thfu;k 

  149. Development of gametophyte directly 

from the vegetative cells of the 

sporophyte without the formation of 
spores is known as : 
(1) Apospory  
(2) Apogamy 

(3) Parthenogenesis 
(4) Xenia 

150. thoksa ds ,d fof'k"V lewg ds mn~fodklh; 
bfrgkl ds fy, fuEufyf[kr esa ls dkSu-lk 
'kCn ç;qDr fd;k tkrk gS \ 
(1) ijkx.kfoKku (2) iqjkouLifr foKku 

(3) tkfro`Ùk (4) O;fDro`Ùk 

  150. Which of the following term is used for 

the evolutionary history of a particular 

group of organisms ? 
(1) Palynology (2) Paleobotany 

(3) Phylogeny (4) Ontogeny 

 

 



6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black ball point pen as 
shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k dks gh iwjh rjg dkys ckWy 
IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, 

only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the 

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
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